CATALOG OF

\ HOBART ’
REPLACEMENT
PARTS

HCC34 COMBINATION FOOD
PROCESSOR

ML-136342 HCC34

A product of HOBART 701 S. RIDGE AVENUE TROY, OHIO 45374-0001
FORM 43333 (November 2016)




HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

F-43333 (November 2016) -2- © HOBART 2016



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

W = © N O,

—_—

Table of Contents

FEED HEAD AND HOUSING
ELECTRICAL COMPONENTS

MOTOR AND SHAFT ASSEMBLY

ACCESSORIES (SHREDDER / GRATER / DICER / JULIENNE)
ACCESSORIES (SLICER)

-3- F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

7

ACCESSORIES

12

PL-60913

gy Ui U g

FEED HEAD AND HOUSING

F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

FEED HEAD AND HOUSING

ILLUS. PART NO. NAME OF PART AMT.
PL-60913

1 00-915749 PUSHIET ...ttt ettt r e enn e 1
2 01-40CC34-24634 FEed HEAU ASSY.....ccuiiiriiiieitieiieite ettt ettt sttt ettt ettt n et e et 1
3 00-274316 S TTor (o gl (o F=1 (=) U OPPPUPPPRTN 1
4 01-40CC34-24244 Scraper Assy. (INCIS. HEMS 5 thru 8)........couiiiiiiiiiieie e e 1
5 01-40CC34-24134  HaANAIE = SCIAPET......ccuutieeiitieeeeiiie e e et eeeestteeeetteeeaasateeessteeeaasseseeaasseeaeassseessssseeesasseeensssssnssnnnnes 1
6 01-40CC34-24133  RING = S (5 IN.)..ettiiiieiieiieite ettt ettt ettt et e et e s s e saeemeeese e aeenaeeneesneeneeenneeeennees 1
7 01-40CC34-24132  Blade = SCIAPET.......ueiieieteieeeeieieeestieaesatteeeaastaeeeaateeeeaassaeaeaassaeeeaasseeeeaansaeeeassseeesnsseeeessnssnsnnnnnes 3
8 01-40CC34-24135  RING = SCIAPET ... uueieeiitiee et e e eteeeeaateteeaateeaeaasaeeeaaseeeeaaneeeeeaseeeeaanseeeeaassseesansseeesasseeeennnnsnnnnnnnes 1
9 01-40CC34-24245  Lid ASSY. (INCIS. HEIM B)....eii ittt e et e e e ettt e e e emee e e e eneeeeenaeeeennnnennnnnnnes 1

10 01-40CC34-24153  KNIfE HEAG. .......eieieieeieeieei ettt ettt ettt eae e b be e e b e e eneees 1

11 L0 RO O O 7 e Yy =T 1 PSR PPTOTPRTPI 1

12 00-915859

13 00-915858

14 00-915857

15 00-915862

16 00-915861

17 00-916957-00048  Label - Warning....

18 00-478891 [oTo] AR (¥ o] =Y PSP 4

19 00-915860 SCIEW M4 X 12, ettt ettt et e e et s et et e n e e et eae e et eae e e e Re et e ete et e nee e neeeennee s 4

20 00-118364 (oo To I (oo Y- TSRS 2

21 01-40CC34-14249  SCrEW M5 X 14 ... oottt ettt ettt et e et eme e et eme e et e ne e e e e teeenneeeennees 4

22 00-916957-00049  Label - Warning (California)...........eeeioueiieieiiiie ettt e et e e et ee e e smeeeeeeaennenbsennees 1

23 0F-045247 [DIE= o = 1o I AT o o PSPPI 1

24 Baffle (Availible as part of Item 12 ONly)......c..eiiiiiii e 1

-5- F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

’

o

©)

e=m8 =8 B9 EEO

TOP VIEW OF
+.CONTROL BOARD

(e]

4 WIRE

SWITCH

PL-60914

ELECTRICAL COMPONENTS

F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

ILLUS.
PL-60914

PART NO.

01-40CC34-14623
01-40CC34-14072
01-40CC34-10587
01-40CC34-24268
01-40CC34-14852
01-40CC34-15422
01-40CC34-14336
01-40CC34-10589
01-40CC34-24211
01-40CC34-24332
01-40CC34-24333
01-40CC34-24152
01-40CC34-24319
01-40CC34-01413
01-40CC34-14851
01-40CC34-24335
01-40CC34-24277
01-40CC34-24344
01-40CC34-14613
00-915868

00-915867

ELECTRICAL COMPONENTS
NAME OF PART AMT.
SCIEW 3.5 X 18ttt e e e e et e e e e e e e e e e e et a e e e e e e e e aeeeaeas 4
WASKNET = INYION ...ttt ettt e b ettt e e e e eees 4
5] €= g Lo [o ] TSSO PTRRR TSPt 4

Clamp = Strain REIET........c.veiieieee e e et e e e s e e e st e e e easnnenarnneees

COT = POWET ...ttt sttt r e e e s et e et e et e e s r e e eennn e s 1
SWILCH = IMAGNETIC. ...ttt ettt e ee e 1
SWILCH = IMAGNETIC. ...ttt ettt et ee e 1
(g To] TS o 1= T=To I 0o o (o PSR 1
SWItCh - ROLAMY (4 WII€).....c ittt e e 1
Pin - Activator (Safety SWItCh).........ooiiiiiiii e 1
SCIEW M4 X 0.ttt et ettt ettt e b et ee e 2
Microswitch Assy. (INCIS. LeAd WIrES).........ueii it 1
Sensor - Speed

20T (o Rl 07 o101 { (o] FO USRS PUPPPPTN

SCrew M2.9 X 16 (REF ONIY)...ciiiiiiiie ettt et a e 1
Screw M4 x 8 Hex Socket Hd. (SST)....
I3 o] o R U4 o TSSO PTRSURUPPPPt

F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

N
Q40

0

0

N\Hﬁ@%@ 0

&P

—

MOTOR AND SHAFT ASSEMBLY

F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

MOTOR AND SHAFT ASSEMBLY

ILLUS. PART NO. NAME OF PART AMT.
PL-60915
1 01-40CC34-24179 Motor Assy. (120 V., 60 Hz., 1 Ph.) (Incls. Items 3, 4, & 11)...coiiiiiiiiiiiiee e 1
2 01-40CC34-14344  SCrEW IMB X 20.......eiitieitieeiie ittt ettt ee sttt et e e bt e b e e e sbeesheeeabeeaseeaabeeaeeeenbeesaeeaabeeanbeeaaeesnbneaaeaannnns 4
3 01-40CC34-24277  SENSOI = SPEEMA.......utieeieteieeeeitteeeeeiteeeeateeeaataeeeaeteeaeaassaeaeaassaeeeaassaseaaassseaeaassseessassesessssssnsnnnnnes 1
4 01-40CC34-14613  Screw M2.9 X 16 (REF ONIY)...c..eiiiiiiiii ettt ettt e e e e 1
5 01-40CC34-T0624  BeIt.....c.eeeieieiiee ettt b e bttt e e s bt e e e bt e he e e b bt h et e bt e bt e bt en e e e e e e annne 1
6 01-40CC34-24291  TENSIONET = BEIL........eeieeiiiee ettt e et e e ettt e e e s te e e sanaeeeesbeeeeasneeeensnnsnnnnnnnes 1
7 01-40CC34-01411  Pulley Assy. (KNife Shaft)..........coiieiiieieeeee e 1
8 01-40CC34-01410  KNife SHaft ASSY ... .eiiieieiieiie ettt e bt et eae e ae e e e ene e e e e nneeeeneees 1
9 00-274333 Seal - Rubber Washer 18 X 30MM........oo ittt e 1
10 01-40CC34-01412 Housing & Knife Shaft Assy. (Incls. fems 8 & 9).......c.ooiiiiiiiiiiii e 1
11 01-40CC34-24588  BraCKet - IMOLOT . ........oiiiiiiiie ittt ettt ettt et e et e e e tee e st e enbeessee e bt e enbeaaseaaneeenbeansseaaaaannns 1

-9- F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

4-5-6-7-8-9-10-11 18-19-20-21
12-13-14-15-16-17

28-29

[HZALLIDE [RZALLIDIE

DEN
22mm 5/64x5/64"
e _© o

____________

30 35-36-37

8 01-40CC34-01076 Rack - Wall
9 00-274329 Brush - Cleaning

PARTS NOT ILLUSTRATED ,
-----------------------------

w W

4
I
1
1
1
1
v
~

ACCESSORIES
(SHREDDER / GRATER / DICER / JULIENNE)

F-43333 (November 2016) -10 -



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

ILLUS.
PL-60898

PART NO.

00-915767
00-915768
00-915769
00-435724
00-915757
00-435726
00-435727
00-435728
00-435729
00-915756
00-435734
00-274320
00-274409
00-274343
00-435735
00-274410
00-875322
00-435730
00-915524
00-274411
00-915686
00-915703
00-915697
00-915706
00-915758
00-915705
00-915707
00-915765
00-915766
00-915527
00-915633
00-915634
00-915635
00-915737
00-915526
00-915525

01-40CC34-63154 Plate - Julienne 3/8 In. (10mm) (1 Knife) (Replaceable Blade)
RACK = Wal.....eiiiee e
Brush (Cleaning)........ccuueiee i

00-914839
00-274329

ACCESSORIES
(SHREDDER / GRATER / DICER / JULIENNE)

NAME OF PART

Plate - Shredder 5/64 In. (2mm) (Non-Replaceable Plate)
Plate - Shredder 5/32 In. (4mm) (Non-Replaceable Plate)
Plate - Shredder 7/32 In. (6mm) (Non-Replaceable Plate)
Plate - Shredder 1/16 In. (

Plate - Shredder 1/8 In. (3mm) (Replaceable Plate)........
Plate - Shredder 3/16 In. (4.5mm) (Replaceable Plate)...
Plate - Shredder 7/32 In. (6mm) (Replaceable Plate)......

Plate - Shredder 5/16 In. (8mm) (Replaceable Plate).............c.ccc......
Plate - Shredder 3/8 In. (10mm) (Replaceable Plate)........................

Insert - Shredder Plate 1/16 In. (1.5mm) (Use With ltem 4)...

Insert - Shredder Plate 5/64 In. (2mm) (Use With Item 5)...................
Insert - Shredder Plate 1/8 In. (3mm) (Use With Item 6)....................
Insert - Shredder Plate 3/16 In. (4.5mm) (Use With ltem 7)................
Insert - Shredder Plate 7/32 In. (6mm) (Use With Item 8)...................

Insert - Shredder Plate 5/16 In. (8mm) (Use With Item 9)...

Insert - Shredder Plate 3/8 In. (10mm) (Use With Item 10).................
Plate - Fine Grater (Replaceable Plate)............ccooeeiiieiiiiicniieeee.

Plate - Hard Cheese Grater (SST) (Replaceable Plate)...
Insert - Fine Grater Plate (Use With Item 18)...................
Insert - Grater Hard Cheese (SST) (Use With ltem 19)...

Plate - Dicer 5/16 In. (8mm) (Non-Replaceable Blades).....................
Plate - Dicer 3/8 In. (10mm) (Non-Replaceable Blades).....................

Plate - Dicer 1/2 In. (12mm) Low (Non-Replaceable Blades)....

Plate - Dicer 1/2 In. (12mm) (Non-Replaceable Blades).....................
Plate - Dicer 5/8 In. (16mm) (Non-Replaceable Blades).....................
Plate - Dicer 5/8 In. (16mm) Low (Non-Replaceable Blades)..............

Plate - Julienne 5/64 In. (2mm) (Non-Replaceable Blades)
Plate - Julienne 5/32 In. (4mm) (Non-Replaceable Blades)

Plate - Julienne 5/64 In. (2mm) (SST) (Replaceable Blades)..............
Kit - Julienne 2 x 2mm Replacement Blades (SST) (Use With Item 30)
Kit - Julienne 4 x 4mm Replacement Blades (SST) (Use With Item 35)
Kit - Julienne 8 x 8mm Replacement Blades (SST) (Use With Iltem 36)
Kit - Julienne 10 x 10mm Replacement Blades (SST) (Use With Item 37)....
Plate - Julienne 5/32 In. (4mm) (SST) (Replaceable Blade)...............

Plate - Julienne 5/16 In. (8mm) (1 Knife) (Replaceable Blade)

1.5mm) (Replaceable Plate)......................
Plate - Shredder 5/64 In. (2mm) (Replaceable Plate)...............c.ccc....

11 -

F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

20-21-22-23

ACCESSORIES (SLICER)

F-43333 (November 2016) -12-



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

ILLUS.
PL-60899

ACCESSORIES (SLICER)

PART NO. NAME OF PART AMT.
00-915724 Plate - Slicing 5/8 In. (15mm) (Alum.) (Replaceable Blade)............ccccoceiriiiiiiiniiiiiciiiiece e 1
00-274318 Knife - Fine Cut Slicer (Use With Item 1)........cccccciniiiniennn.

00-914406 Knife (Soft Dice) (Use With ltems 4 thru 7)

00-914394 Plate - Slicer 5/16 In. (8mm) Soft Slice (Replaceable Blade)

00-914395 Plate - Slicer 3/8 In. (10mm) Soft Slice (Replaceable Blade)

00-914396 Plate - Slicer 1/2 In. (12mm) Soft Slice (Replaceable Blade)

00-914397 Plate - Slicer 5/8 In. (15mm) Soft Slice (Replaceable Blade)

00-915752 Plate - Slicer 1/32 In. (1mm) (2 Knife) (Replaceable Blades).............ccccceieiiiieniiiieiiiiiee e 1
00-915530 Plate - Fine Cut Slicer 1/16 In. (1.5mm) (2 Knife) (Replaceable Blades)............c.cccceevciveeeeannnns 1
00-915753 Kit - Knife Slicer 0.5-1mm (Use With &M 8).......cccuiiiiiiiiiiiie e 2
00-915631 Kit - Slicer 1.5 x 10mm Replacement Blade (SST) (Use With Items 9 thru 16)......................... 1
00-915754 Plate - Slicer 1/8 In. (3mm) (1 Knife) (Replaceable Blade).............ccccoiiiiiiiiiiiiiiiiiiciiiccees 1
00-915532 Plate - Fine Cut Slicer 5/32 In. (4mm) (1 Knife) (Replaceable Blade)...........c.cccccerieviiiiiieannns 1
00-915533 Plate - Fine Cut Slicer 7/32 In. (6mm) (1 Knife) (Replaceable Blade).....

00-915755 Plate - Slicing 5/16 In. (8mm) (1 Knife) (Replaceable Blade)...............

00-915531 Plate - Fine Cut Slicer 3/8 In. (10mm) (1 Knife) (Replaceable Blade)..

00-915632 Kit - Crimping Slicer (Use With em 18).........oo e
00-915534 Plate - Crimping Slicer 5/32 In. (4mm) (SST) (Replaceable Blade)............cccooeeeieiiiiieeniennannn. 1
00-915764 Plate - Crimping Slicer 5/64 In. (4mm) (Non-Replaceable Blade)....

00-915760 Plate - Slicing 1/32 In. (1mm) (Non-Replaceable Blade)............ccceiiiiiiiiiiiiieiieieecieee e
00-915761 Plate - Slicing 5/64 In. (2mm) (Non-Replaceable Blade)............cccceiieiiiiiiiiiiiiiieieciiieee e 1
00-915762 Plate - Slicing 5/32 In. (4mm) (Non-Replaceable Blade)............cccceiiiiiiiiiiiiieiieiieeiiieee e 1
00-915763 Plate - Slicing 7/32 In. (6mm) (Non-Replaceable Blade).............ccceiiiiiiiiiiiiieneiieeiiieeee e 1
00-915770 Plate - Crimping 5/16 In. (8mm) (Deep Groove) (Replaceable Blade)............ccccccevveviiiiiieinnnns 1
01-40CC34-82622 Knife (Use With ltem 24) (Hooter's Pickle CrimpPer).........coouiiiiiiiiieiiieeiieesie e 1

-13- F-43333 (November 2016)



HCC34 COMBINATION FOOD PROCESSOR REPLACEMENT PARTS

FORM 43333 NOVEMBER 2016 PRINTED IN U.S.A.



